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In the Test Booklet, there are 100 questions. Thus 100 questions in all are to be answered.

Tie giEdert § Fa 100 T & | 36 TRR Fod 100 T1 b1 ST AT R |

Each Question is of 1 mark, which will be awarded for the correct answer. 0.5 mark will be deducted for
each wrong answer. More than one Answer indicated against a Question will be declared as incorrect

Answer.

ek I o ToTT 1 37k Feifia & 57wl 3o eh ford foarm SR | Ieieh TTetd ST 0.5 37 shie fofam St |
Ife ueh T3 & foru wens @ 3ferens I fod S @ 38 39 wed & ford Tt SO HEn S |

If there is any difference between English version and the corresponding translated version in Hindi of
any question, then the English version will be treated as authentic.

I Ssht # gisa foret woa o 3ueh fowdt s1game & =i forran &1 a s § gfsd wod & wr g |

Use of Calculator/Slide Rule/Log Table/Graph Paper/Charts or any electronic gadget eg. Mobile Phone
etc. is not allowed.

AP /EATESE /AN S /TTHUTR /=T 1 Feheft TehTt o Fetareii-ieh IUHTUT AT HIsTSel i 3T
Iy afsla R |

Any candidate attempting or using unfair means or copying or detaching any page of question booklet
or marking the answer on the question booklet will be expelled and his candidature will be rejected.
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a1 38 wden & frshifa o fear S ok 3ueht Sufiearl @ &t &t s |

Candidates must also follow the instructions, which may be given by the Centre Superintendent from
time to time.
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ADDITIONAL BOOKLET/ANSWER SHEET WILL NOT BE PROVIDED UNDER ANY CIRCUMSTANCES
OTHER THAN THAT MENTIONED IN 1 ABOVE.
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Candidates on completion of examination handover the OMR answer sheet to the invigilator. The invigilator
shall separate the two sheets and handover the duplicate copy (orange) which is mandatory to preserve

till counseling is over. Candidates are allowed to carry the question booklet allotted to them.
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(B) Process for Filling up OMR Answer-Sheet (2T1.TH. 3T, 37 UsTeh hi WA <l UfhaT)

1. ANSWER SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER.
3T Uk 311 UH. TR, YR 1 2 S8 Pyt TR g1 9el ST 2 |
2. Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Answer

Sheet in CAPITAL LETTERS. The Digits should be written in appropriate boxes in Blue/Black ball point
pen and the circles corresponding to the digits be darkened with Blue/Black ball point pen only.

I I o Ffase TAH T A Tr/oie ohex 1 ohis /TiaT IReeht ol J&aT 3Tfe il IT-TF |
FHitea A & W | Ffdse SR @t & o7 el /el oTel @ise o™ 8 W 3R Fref-ag el @ b

et /hTet ! T el WTee her® & 1 |

Example: If Roll No. is 179682 and the Question Booklet No. is 2439, then

3eTeur: e O AR 179682 2, @ wd wlie gfedert g 2439 7,
1179|682 21413809
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3. Oncompletion of examination handover the answer sheet to the Invigilator. The Invigilator shall separate
the two sheets and handover the duplicate copy (orange) to you.

e BH % 18 IT THh I AN (FIATESR) i faom S =nfee | sAfafsieret a1 sfie i o7 ek
gftetche It i SATTRT T =1(RT, |
4. The questions are multiple choice type. Each question is provided with a number of choices of Answers,

out of which ONLY ONE is MOST APPROPRIATE. The candidate must darken the appropriate circle
provided in front of the question number, using Blue/Black ball point pen only.

TR g Torshed TR o 2 | Tedeh e o o1 ot Tt foreed S © 9 sharel Uk &1 Hatieren 3ugad ¢ | wiamefl i
Y T o ek I foehed o THA o TESI{Ed el i Freft /ohiefl STt Wige hed 8 & T 2 |

Example : If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question
no. 7 as shown below :
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Pharmacy

Who is regarded the father of surgery in ancient India ?
(A) Sushrutha (B) Charaka (C) Vasavadatta (D) Dhanvantari

How many bones are there in the normal adult human body ?
(A) 201 (B) 204 (C) 206 (D) 210

Which of these is used in the treatment of malaria ?
(A) Meflooquine (B) Azithromycin (C) Rabeprazole (D) Methotrexate

The organism responsible for AIDS is
(A) Hepatitis B virus (B) HIV
(C) Herpes virus (D) Plasmodium

Which of the following routes of drug administration is not parenteral ?

(A) Intravenous (B) Subcutaneous

(C) Intradermal (D) Sublingual

Beta blockers are used in treatment of

(A) Hypertension (B) Diabetes mellitus

(C) Myxedema (D) Hypercholesterolemia

What is the primary use for pioglitazone ?
(A) Anti-convulsant (B) In Hypertension
(C) In Diabetes (D) In Malaria

Fever with bodyaches and low platelet counts is likely to be

(A) Dengue (B) Typhoid (C) TB (D) Pneumonia
The process of transport across a cell in particulate form by formation of vesicles
is called

(A) Active transport (B) Facilitated diffusion

(C) Pinocytosis (D) Passive diffusion

When the rate of elimination of a drug remains constant irrespective of drug
concentration, it is said to follow

(A) Zero order kinetics (B) First order kinetics

(C) Exponential kinetics (D) Secretory kinetics

Complete drug elimination occurs usually after
(A) 2 half lives (B) 3half lives (C) 5half lives (D) 10 half lives
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CIEBICp

. 3 O for8 Ui Wi & Ikl 1 fuar AT S ? 7
(A) ggen (B) =k (C) dr&eE (D) g
T Sk HHE TCH fora efgat aidi 8 ?
(A) 201 (B) 204 (C) 206 (D) 210
AT o TR | 3980 & fergrent Tt fhan Simar ? 7
(A) WIFHE (Meflooquine) (B) ITSHYMTSR (Azithromycin)
(C) TI@EIEﬁFT(Rabeprazole) (D) ﬁ‘éﬁé?ﬁﬁ (Methotrexate)
TgH & foru fomer sfia 2
(A) BUTEem ot T (Hepatitis B virus)  (B) T=ISTTEHT (HIV)
(C) TUH ITIH (Herpes virus) (D) wATSHITEIH (Plasmodium)
S0 @ I BT ST o R TAT TR 2 7
(A) EEZA'Iﬁ'vI'H(Intravenous) (B) Waﬁa (Subcutaneous)
(C) 3ITeHd (Intradermal) (D) WfeTRa (Sublingual)
sfieT scitend ford T o ST=IR § 3T fehaT ST ® 7
(A) Al (B) SR
(C) Tregem (D) BTSRRI

foranfetersiv (pioglitazone) 3T TTerfiieh Juim M 2 ?
(A) TRl forieft (Anti-convulsant)  (B) 39 WA= |

(C) wygwgH (D) wafeEnH
YRR H T4 3R W wieere Fdt o a1 @R 8 1 Gma ford iRt 3 2 7
(A) =T (B) TEHIES (C) i (D) Tt

T o JIdehT o &9 H T o TR THERH 1 TTshaT ohl T el STl @ ¢
(A) Hfa afEae (B) glenfawwor (C) dHmmRRiftm (D) fifskyaw

ITe Teh T o ST ohl L Ga] ThRral e fer R s i g2 8, s ufshn sl e ahed @ 7

(A) I FH R (B) UEH o I IS
(C) T g™ (D) @Tet g
TWIAIYH AT FHaGeae |

(A) 2 AT SIeA (B) 33TYTSiiad  (C) 53M4TSiiad (D) 10 3T S{ia
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‘Hit and Run’ drugs are

~—

(
(B
(C) Those with short life

(D) Those withdrawn from market very fast
The longest bone in the body is

(A) Humerus (B) Stapes (C)

A) Whose plasma concentration cannot be measured
Whose effect lasts longer than the drug itself

Tibia

(D)

Femur

A drug which activates a receptor to produce effect in the opposite direction to

that of a well recognized agonist is called

(D)

(D)

(D)

Kidney

All

Platelet

(A) Partial agonist (B) Antagonist
(C) Super Agonist (D) Inverse agonist
Which is the largest organ in the body ?
(A) Skin (B) Brain (C) Heart
Cardiac output is the product of heart rate and
(A) Respiratory rate (B) Minute ventilation
(C) Stroke volume (D) Peripheral resistance
Precordium refers to area overlying the
(A) Heart (B) Lungs
(C) Stomach (D) Urinary bladder
The route of administration for insulin is
(A) Subcutaneous (B) Intramuscular (C) Intravenous
The cells in the blood responsible for carrying oxygen is
(A) WBC (B) RBC (C) Lymphocyte
Energy from food sources is measured usually in
(A) Dyne (B) Calorie
(C) Pascals (D) Horsepower
The acid normally secreted in the human stomach is
(A) Nitric acid (B) Sulphuric acid
(C) Hydrochloric acid (D) Citric acid

-6-
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‘G 3w’ (Hit and Run) 291 3-8 hed 8

(A) TSTTehT TS UehnraT AT Tl ST Hehal

(B) ToTEeRt waTTa T % e T M wHa qe e R
(C) e Bersiadgars

(D) 578 =gd ot & SR & am9| o forn s @

IR I Gl A T R AH TR 7
(A) TEE (B) TNH (C) fefsrm (D) R

Teh 29T ST fehd ! FEwet ol Ueh 3T=a] diE © UE==T T WS o ook feem & gme 3cu=
F & e afspg TR, IR T HEd @ 7

(A)  STiRTR TfRe (B) Sicaeft (SFemiifee)

(C) FREM (D) Sefel (a4 witfee

T W I 1 IR § el F81 R 7

(A) = (B) wi&rsh (©) fea (D) Tt

TS H3eYe fadt il & 3R HIATRR |

(A) Y94 ST (Respiratory rate) (B) WIEE e (Minute ventilation)
(C) T U (Stroke volume) (D) uftefta gfaier (Peripheral resistance)
TS 39 &1 &l hed & S ! Feifd Fa? |

(A foa (B) HHe (C) W (D) TR

Tgfor o foTT Sremed o1 AT g 7

(A) =TS o (B) Iqusim (C) T (D) Tt
TS A ST o foTu wor | e shifsrersti s am 2

(A) G%e TR (WBC) (B) T T&dehUT (RBC)
(C) <AHIRTRITETERT (Lymphocyte) (D) Wi (Platelet)

e Gl 8 I Tl bl A qH R 5 3hTs A AT ST 7

(A) S (Dyne) (B) At (Calorie)

(C) uTEhed (Pascals) (D) 3TRasTiad (Horsepower)
YT &Y 8 {9 U< H Fifdd Uig S a1g ?

(A) s uftre (B) T ufte

(C) TIESIFANG: UfHE (D) Efesh Tftre
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22. Who first showed the complete pathway of blood circulation ?

(A) William Harvey (B) Vesuvius

(C) Hippocrates (D) Alexander Fleming
23. The number of chambers in a normal human heart is

(A) 1 B) 2 (C) 3 (D) 4
24. Human cells have pairs of sex chromosomes.

(A) 1 B) 2 (C) 23 (D) 46

25. The organ predominantly involved in metabolism of drugs is
(A) Liver (B) Lungs (C) Stomach (D) Spleen

26. When a drug binds to a silent receptor,
(A) no pharmacological response occurs
(B) the drug gets metabolized
(C) neuroendocrine hormones get released
(D) DNA changes occur

27. Median lethal dose/median effective dose of a drug is called
(A) Therapeutic subsistence (B) Therapeutic index
(C) Therapeutic window (D) Therapeutic efficacy

28. The anti-diabetic drug recently in the news for its probable relation to
bladder cancer is

(A) Nateglinide (B) Sitagliptin (C) Pioglitazone (D) Metformin
29. Inert substance given in the garb of medicine is called

(A) Placebo (B) Vaccine (C) Toxoid (D) Multivitamin
30. The structure carrying deoxygenated blood is

(A) Artery (B) Lymphatic (C) Vein (D) Nerve
31. Which of these vitamins is water soluble ?

(A) A (B) D (C) E (D) C
32. Deficiency of which vitamin causes Pellagra ?

(A) Riboflavin (B) Niacin

(C) Biotin (D) Methylcobalamin
33. Which of these drugs is used as a diuretic ?

(A) Frusemide (B) Calutamide

(C) Chlorpropamide (D) Cyclophosphamide
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22, I | ST - TeY Ugel Lo THE=0T o qL HI ol GRIaT o 7
(A) fafermze (B) forgfermm (C) Tevishem (D) STeIFISL FATHT

23. T G T8 o foet | shefi ohl g frai 2 7

(A) 1 B) 2 C) 3 (D) 4
24. WA HIRTRIS # Yo I hl forad SIS 81 2 7

(A) 1 (B) 2 (C) 23 (D) 46
25. &I €Y H 13 o TAT= § IMMHA ST AT R 7

(A) TR (B) %%e (C) W (D) Toeett
26. T qa1 Ueh Hoh TEL ol el &, 51

(A) IS fwefa wffsran T g g (B) T HIEIATSSE Bl ST 2

(C) TIeUuvEiwE TMH SRl & (D) SEUH gRadd B 8
27. LY HTdeh QU /Teh qaT chi 3TEd THTE! Gk i AT Hal a1 g ¢

(A) Tafredia fate (B) Taforcefa garerien

(C) Tufercdia faehi DREESIRECIEEARGII
28. AT HEL % TIT 3194 werrfera Heler o forw =t € & @ & wyghe foieft qan ?

(A) ST (Nateglinide) (B) et (Sitagliptin)

(C) Turnfriersi (Pioglitazone) (D) TIHIHIT (Metformin)
29. earh oATe § < T} 3ok vete il FT RIS R 7

(A) @W(Placebo) (B) 3T (Vaccine)

(C) <EITS (Toxoid) (D) HeA AT (Multivitamin)
30. ATaEisH 1Ed o of ST oTeft T &

(A) e (B) fTethfesm (C) =@ (D) dfert
31. T9H 9 a1 ferfe arit & gemelia ® 7

(A) T B) @ ©) 3 (D)

32. Yoo frE faefim s wft @ adi 2 ?
(A) TESFAT (B) Trnfem (C) st (D) TATSThISTAT

33. I 5aIRTl § A i 91 U Poaeeh o €9 § T R S @ ¢
(A) FHTES (B) FeITHEE  (C) FATIYMAES (D) HISHAHEHHATTS
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34. Which of these is an anticancer drug ?

(A) Ticarcillin (B) Tigecycline (C) Teicoplanin (D) Carboplatin
35. Which of the following drugs is likely to be tapered and stopped ?

(A)  Amoxycillin (B) DEC

(C) Prednisolone (D) Meropenem

36. Wilson‘s disease is associated with metabolism of

(A) lIron (B) Zinc (C) Aluminium (D) Copper
37. Antidote for heparin is

(A) N-acetylcysteine (B) Gilucagon

(C) Methylene blue (D) Protamine

38. Which of the following is used as an antiepileptic drug ?
(A) Phenobarbitone (B) Penicillin (C) Varenicline (D) Acarbose

39. Which of the antihypertensive drugs has dry cough as a side effect?

(A) Ganglion blockers (B) Calcium channel blockers
(C) Diuretics (D) ACE inhibitors
40. Which of these drugs is likely to be used weekly once ?
(A)  Amoxycillin (B) Methotrexate
(C) Atorvastatin (D) Sulphasalazine

41. Which of the following is an antifungal agent ?

(A) Ciprofloxacin (B) Ornidazole

(C) Miconazole (D) Albendazole
42. The normal fasting blood sugar value is around

(A) 50 mg/dL (B) 100 mg/dL

(C) 150 mg/dL (D) 200 mg/dL
43. Chemical energy at the cellular level is in the form of

(A) NADH (B) ATP (C) NADPH (D) SOD
44. Glycolysis results in conversion of glucose to

(A) Fructose (B) Glyceraldehyde

(C) Pyruvate (D) Acetoacetate

AN -10-
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TTH W O Uk e faefi gan g ?
(A) TgRITGAH (Ticarcillin) (B) <TEIETEHA (Tigecycline)
(C) drehIwAT= (Teicoplanin) (D) SHTETATIE (Carboplatin)

foefetad gansti | @ frel svH o U9 o2 i hl GHET R ?
(A) HfgEe (B) T (DEC) (C) JsHEeH (D) TUH

T T o <o o T e g °

(A) e (B) S (C) ofegmf@m (D) awT
BN & foIw A 8

(A) T ufbeTsAtaE (B) TR

(C) wegfer s (D) Wi

= 0 9 o a1 e ) foreh gan & wu d v feran S 2 ?

(A) SAIETise (Phenobarbitone) (B) ufafafe (Penicillin)
(C) aRfaTE (Varenicline) (D) UehTdTST (Acarbose)

T8 9 forg UferTeud (e qansti o U ua yoTe el wiEi @ ?
(A) T seteRd (Ganglion blockers)

(B) hfe¥rm 9+t stehd (Calcium channel blockers)
(C) #HF (Diuretics)

(D) UHE FeRiEs (ACE inhibitors)

T TS § ¥ I 1 HI1Eeh Ush SR SEHTe Bl & 7

(A) SHIfRAR—eH (B) TR (C) TWRARIA (D) EehHMTATSIE

= 4 9 & 91 U g o e 7

(A) TaowtgmE (B) stvflesial (C) fepMmiet (D) Ifcdmie
T YA TR I Jodl % ST 2 |

(A) 50 Tt /e (B) 100 furefum /Sua

(C) 150 faefium /< (D) 200 faefium /<

I T T TEI STl o €9 § fohgeht seduTet gar e ?

(A) NADH (B) ATP (C) NADPH (D) SOD

TATSh IATS oM o ST Te[ehlst ol ®UTALT fohl €U H BIAT & 7

(A) FFH (B) fomlcegRe (C) UREde (D) 3@eTEHe

11-
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Which material is predominantly used in the sphygmomanometer ?

(A) Selenium (B) Silver (C) Mercury (D) Cyanide
Which of the following effects is not mediated by Histamine type 2 receptors ?
(A) Vasodilatation (B) Bronchoconstriction

(C) Gastric acid secretion (D) Tachycardia

Which of the following drugs cannot be given as intravenous bolus shot ?
(A) Potassium chloride (B) Adenosine
(C) Insulin (D) Dextrose

Which of these drugs is most likely to be used by a cardiologist ?
(A) Streptokinase (B) Anti-venom
(C) Doxycycline (D) Sevelamer

Which of these diseases is a psychiatric disease ?
(A) Schizophrenia (B) Glaucoma (C) Prolapse (D) Scurvy

Deficiency of what causes rickets ?

(A) Vitamin A (B) Vitamin D (C) Iron (D) Copper
Which of these is not a HMG-CoA reductase inhibitor ?

(A) Ulinastatin (B) Simvastatin

(C) Pitavastatin (D) Atorvastatin

Normal WBC count range in the blood is

(A) 1.5lakh to 4 lakh/cu.ml. (B) 4000-10000/cu.ml.
(C) 4.5 million to 5.5 million /cu.ml. (D) 100-400/cu.ml.
The hardest substance in the human body is
(A) Bone (B) Cartilage (C) Dentine (D) Ligament
The nasogastric tube used for enteral feeding is called
(A) Steven’s tube (B) Sengstaken blackmore tube
(C) Ryle’s tube (D) Foley’s tube
The best treatment modality for uncomplicated non-infective diarrhea is
(A) Antibiotics (B) Loperamide
(C) Ranitidine (D) ORS
-12-
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45. 30 O fhg agemTdh (sphygmomanometer) T g fRan ST ® 7

(A) et (B) = (C) (D) WSS
46. Tr=feRaa yume @ i a1 e 2Ry 2 i g negwerar el ar g ?
(A) TTEGEATH (B) SIhich{gaR™
(C) ez eftre & (D) Terreeaa
47. TAfaftad ganeti v o fora ¥ 9@ 317 (intravenous bolus shot) & 9 8 &t feam s
TehaT® ?
(A) TRRREM FRES (B) TS
(C) wgfeH (D) s
48. 31T H O i 91 Ueh g2 U fIeisg gm0 w2 shl ST aredt gerd 3iferes geqifad gan @ ?
(A) WY (B) <& fomieft (Anti-venom)
(C) eTadaTE(Fa (Doxycycline) (D) TIATR (Sevelamer)

49. = SO § 9 ShiH 1 Tk gieeh a2 ?
(A) TSI (B) wifcanferg (C) diaT® (D) T
50. fore =1 & sHt & @1 AT (rickets) BT R 7
(A) faarfimg (B) foerfm<h (C) o (D) e
51. 399 ¥ I B T HMG-CoA reductase 3TaUesh T8 ® 7
(A) At (B) Toamefea (C) Wammefs (D) IEERRA

52. Tad ® @ WBC il G Himr g ?
(A) 1.5 4 A/ cu.ml. (B) 4000-10000/cu.ml.
(C) 4.5 Tafera @ 5.5 fafera=/cu.mil. (D) 100-400/cu.ml.

53. WMDY H g8 e yered e 7

(A) T (B) e (C) =t (D) s

54. TNITESh 2 TorEehT SEHTA Tt hifen & foreer giar 2 34 Fed ®.
(A) Haazgd (B) TTEEToh SATRHR &
(C) TgcEgS (D) iferE g

55. el 1T HehHeh a&d o ToIU g8 3T1=1 IT=R o 19 12 7
(A) T (B) IS (C) THhfefe (D) AIATH (ORS)
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Rods and cones are part of

(A) Inner ear (B) Liver (C) Breast (D) Eye
Which of the following is not used sublingually ?

(A) Isosorbide dinitrate (B) Nifedepine

(C) Nitrofurantoin (D) Nitroglycerine

Laplace’s law is followed by all except

(A) Brain (B) Heart

(C) Urinary bladder (D) Stomach

Which of the following organs in the human body is gender-specific?

(A) Spleen (B) Prostate (C) Lingula (D) Pinna
Which of the following structures in the human body is not gender-specific ?
(A) Seminal vesicle (B) Fimbria

(C) Left atrium (D) Cowper's gland

Tympanic membrane is a part of

(A) Ear (B) Diaphragm  (C) Heart (D) Appendix
The total volume of blood in the human body is around

(A) 1 litre (B) 3 litres (C) b5litres (D) 7 litres
Which of the following anti-hypertensive drugs is not safe in pregnancy ?
(A) Ramipril (B) Atenolol

(C) Methyldopa (D) Hydralazine

Proprietary name of a drug in drug nomenclature refers to

(A) Chemical name (B) Generic name

(C) Brand name (D) Scientific body name

All these drugs are ineffective orally due to liver metabolism except

(A) Testosterone (B) Insulin (C) Lidocaine (D) NTG

Bioavailability of a drug by which route reaches 100 % ?

(A) Oral B) v (C) Nasal (D) Topical

Knee cap is the common name for

(A) Patella (B) Fibula (C) Scaphoid (D) Femur
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57.

58.

59.

60.

61.

62.

63.

64.
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B M % (Rods and Cones) fora 311 o1 fexan € 7

(A) fasm (B) F~r (C) &M (D) 3@
frer o @ forgent s wifectierett et fomam SaT @ ?

(A) SHEERETES S3EL (Isosorbide dinitrate)

(B) THHESiU (Nifedepine)

(C) 313@?@3:1 (Nitrofurantoin)
(D) FTgaifie@fE (Nitroglycerine)

AT ST % TTd Tt T AT B 2.

(A) HieTsh (B) fe= (C) T (D) W
e TR E e o # & e o e R 7

(A) faeeh (B) WIE (C) fosa (D) "™

HHE IRH fe wereti @ o forr fom =i 2 7
(A) THHA gfeaRT (Seminal vesicle) (B) ool (Fimbria)

(C) ot A1feTg (Left atrium) (D) aﬁqﬁﬁﬁl(Cowper's gland)
et (Tympanic) freett 310 @ forer o7 o1 wes fezmn @ 7

(A) & (B) THETHM (C) fe= (D) T
TG IR H T o Fdd AT o JTETE 2.

(A) 1T (B) 3iX (C) 5teX (D) 7 &iteX
T8 i o1 e Torieft 3==r Ty foriereh gan moyfaeen & qefara 7 2 7

(A) TS (B) THIAA (C) Tusem (D) TSN

TGT ATHTEAT B ShI9 9T 19 Teh o1 % HIfAhRHT 910 1 efidd shidi e ?
(A) TEE( T (B) EHITH (C) W™ (D) AT IR AT

3 13T | O forg 21 ol Bige Aifitas &9 o4 T SR === o sror ST § 7

(A) TEIEIH (B) FHfcH (C) e (D) NTG
fore AT 9 TaT o | F&T Sl IS IRRH 100% T U5 ST 2

(A) HifEe (B) 3mmEeh (C) FgIEs (D) EmMfrH
g2 &l 2t (Knee Cap) & foT 10 m ©

(A) el (B) Thggen (sfesiferh)

(C) THTHIFS () (D)
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68. The RNA contains all except
(A) Thymine (B) Uracil (C) Adenine (D) Guanine

69. Goitre is a condition affecting the
(A) Lower limb (B) Scrotum (C) Thyroid (D) Nasal cavity

70. Which of these structures in the body is unpaired ?
(A) Ureter (B) Optic nerve
(C) Spleen (D) Stapedius

71. Hoffman's elimination refers to drug elimination by
(A) Gel matrix formation (B) Aerosol evaporation

(C) Molecular reorganization (D) Enzymatic degradation

72. Normal glomerular filteration rate in adults is

(A) 75 ml/min (B) 100 ml/min

(C) 200 ml/min (D) 125 ml/min
73. The functional unit of the lungs is

(A) Alveolus (B) Nephron (C) Myocyte (D) Reticulocyte
74. Serum creatinine helps in measuring the function of

(A) Liver (B) Kidney (C) Lung (D) Muscle
75. Which of these is not a part of liver function test?

(A) Prothrombin time (B) sGOT

(C) GaGT (D) Mean corpuscular volume
76. The term ESR stands for

(A) Extensive Sibilant Ronchi (B) Extra-Sensory Receptors

(C) Equal Sinus Rhythm (D) Erythrocyte Sedimentation Rate
77. VDRL test is associated with

(A) HIV (B) Syphilis

(C) Gonorrhea (D) Hepatitis B
78. Which of the following diseases is spread through the faecal-oral route ?

(A) Hepatitis A (B) Hepatitis B

(C) Hepatitis C (D) Hepatitis D
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68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

AN

RNA ® ERC RIS IS

(A) omEfm (B) Fuidret (C) Tshm (D) T
TUSATEAT (TMgeR) Torm 37T &t weiferd et @ 7

(A) Frereh fora (B) 3ITShITT i St (ThieH)
(C) wTEse (D) TETTRT (TSI Shifarel )
IR Y 3 GTEATST § 9 o 91 SR R 7

(A) T (B) ek dfen

(C) foeedt (D) TeTfufea® (Stapedius)
TENAIHEH o g o 3o Halid il 2.

(A) i Bfeag 73 (B) TG ATHISH0T

(C) UTfereh grvia (D) Tervantta fammer

R H AT HIThRT=S ¥ I & 7

(A) 75 fiefom /e (B) 100 forefum /e

(C) 200 fiefium /fiFme (D) 125 faefium /fime

THE! o T IcHeh SohTS @

(A) oo™ (B) <% (C) HREETES (D) WiparErse
o foufefaa & T ! A9 | AeS hidl 2.

(A) ~R (B) T&i (C) W®weT (D) wEush
0 O SR % il & qlieqor o feean =i @ 7

(A) ifEF 2 (B) sGOT (C) GGT (D) 3T SHivTRT HTT
SUHSTR 7 3fid shar @ 7

(A) =Tk IHH Tt (Extensive Sibilant Ronchi)

(B) AR Tad feaeed (Extra Sensory Receptors)

C) 9HM 9119 o1 (Equal Sinus Rhythm)

D) THYTHETEE STTYTE (Erythrocyte Sedimentation Rate)

VDRL &0 ford T € JEST 83T 2 7

(A) T TR (B) SUEW (C) Ik (D) TueEfeEsh
frefeTfaa Tl | & 9 91 U7 7e - Hifash 7 o J1eaq 8 Sel @i e 7

(A) TUeEfeRT (B) TueEfemsht  (C) wueRfemdl (D) wuewrfwd
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79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

AN

Malaria is caused by
(A) Bacteria (B) Virus (C) Parasite (D) Mosquito
The aperture of the human lenses is called

(A) Iris (B) Cornea (C) Retina (D) Pupil

Abnormal perception in the absence of a stimulus is called
(A) Delusion (B) Mlusion (C) Hallucination (D) Emotion

Which of these is not used parenterally ?
(A) Cefotaxim (B) Amikacin
(C) Cefixime (D) Vancomycin

Dubois formula is used to calculate
(A) Body surface area (B) Body mass index
(C) Individual child dose (D) Weight height ratio

Rapid development of tolerance to a drug is called

(A) Tachyphylaxis (B) Anaphylaxis
(C) intolerance (D) Resistance
Toxic effects of a drug at usual therapeutic doses is called

(A) Intolerance (B) Secondary effect

(C) Idiosyncracy (D) Hypersensitivity

Capacity of drug to produce foetal abnormalities is called
(A) Mutagenicity (B) Carcinogenicity
(C) Teratogenicity (D) None

All are used in the prophylaxis of migraine except

(A) Propranolol (B) Flunarizine  (C) Amitryptiline (D) Sumariptan
Insulin is synthesized in the cells of pancreas.
(A) Alpha (B) Beta (C) Delta (D) None

Which of these is a sulfonylurea ?
(A) Miglitol (B) Acarbose (C) Gliclazide (D) Metformin
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79. HATT 1 ek BidT 8

(A) SFifE (B) IRH (C) Wi (D) H=X
80. 30 U ford W4 T o1 U= (Aperture) FET TS 7

(A) (B) e (C) geeTed (D) e
81. WICETE o 39Ta § STHH ETRUTT <k T hal ST 8 7

(A) ST (B) M (C) Togftmer, (D) AW,

82. 3TH © fohTehT IUFIT T (parenterally) T&i fran ST 2 ?
(A) Hiwleriam (B) AfTeRIRH (C) ufthfoRam (D) QTHMTEREA

83. gatssl g3 (Dubois formula) fere o1 3 foTe st fehar stran @ 7

(A) YRR TdE & (B) YR HTAT STeHTUIERT
(C) =afFTa s==l &l GUh (D) IS HTE I
84. ek ST % foTC TIESLAT 1 it & TremTer <Rl o711 ST ST 2 7
(A) THEATRE (Tachyphylaxis) (B) - diauTiEdT (Anaphylaxis)
(C) ST (Intolerance) (D) falier (Resistance)
85. AT Ffoheefi™r Gk W aaT o fouTeRt STal <Rl 11 el ST 7
(A) STERESET (Intolerance) (B) WA I9TE (Secondary effect)
(C) farstwwIT (Idiosyncracy) (D) 3rfawEEaRiiardT (Hypersensitivity)
86. YUT THTHTIATY Icufel i o ol 39 ShY &weT Shl T hel ST & 7
(A) TETHTHTE (Mutagenicity) (B) =mITEANATETE (Carcinogenicity)
(C) duerFMfEfe (Teratogenicity) (D) WIS
87. 0 O fondent 3u=v wigh+ & Miftheifaam # 7 ferar ST @ 7
(A) Eﬁ'SI'I'rﬁFﬁFT(Propranolol) (B) tPFfITf'\Gl'I's\':r(FIunarizine)
(C) uHifZfE AT (Amitryptiline) (D) gHT=A (Sumariptan)
88. I STIATIT o fohd ehIf¥TeRTT H Tvcifia Bl 2 7
(A) ST (B) e (C) e (D) IS
89. STH W I T Ush HehHTSIIIAT (sulfonylurea) ® 7
(A) Hifsaae (Miglitol) (B) UsHNSS (Acarbose)
(C) TriFANIEE (Gliclazide) (D) TIHITHT (Metformin)
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90. Which of the following acts by inhibition of carbonic anhydrase ?
(A) Spironolactone (B) Acetazolamide
(C) Indapamide (D) Chlorthalidone

91. All are vitamin K dependant clotting factors except
(A) Factor 7 (B) Factor 9 (C) Factor 10 (D) Factor 13

92. Which of the following is not a second line anti Tubercular agent ?
(A) Ethionamide (B) Cyclosporine
(C) Capreomycin (D) Cycloserine

93. The anti tubercular agent associated with side effect of optic neuritis is
(A) Isoniazid (B) Rifampicin
(C) Pyrazinamide (D) Ethambutol
94. Which of the following is used in treatment of Addisons disease ?
(A) steroid (B) statin
(C) sulfasalazine (D) sulfonylureas

95. What is the dose of Telmisartan used in hypertension ?

(A) 5mg (B) 16 mg (C) 40mg (D) 50mg
96. What is the maximum daily dose of metformin ?

(A) 500 mg (B) 100 mg (C) 2000mg (D) 850mg
97. Which of these is not a long acting insulin ?

(A) Degludec (B) Lispro (C) Glargine (D) Detemir

98. Which condition commonly causes severe pain, redness and swelling of the
first metatarsal joint ?
(A) Rheumatoid arthritis (B) Gout
(C) SLE (D) Osteoarthritis

99. Which of these is not an antibiotic drug ?
(A) Azithromycin (B) Linezolid (C) Cefpirome (D) Oseltamavir

100. Megaloblastic anemia occurs in deficiency of
(A) Vitamin B12 (B) Vitamin C (C) Copper (D) Vitamin A
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90. IH W I T HIEI(eh TTRI3gSl & ue o gRIHHE T e 7

(A) TATSUIATEEH (Spironolactone) (B) THISIIAMTSS (Acetazolamide)
(C) 3SMMISE (Indapamide) (D) FANBIATEH (Chlorthalidone)

91. o8 @ oI 91 foerfim K et oeeh s € 2 ?
(A) HFIT 7 (B) HFI 9 (C) HFT 10 (D) T 13

92. S:I'ﬁ ﬁ@iﬁﬁaﬁ?ﬁﬁﬁ CIATH T Qv\id (Second line anti tubercular agent) T2 ?
(A) TfEAMTES (Ethionamide) (B) HTEFAIINA (Cyclosporine)
(C) SNSRI (Capreomycin) (D) WTEFAENH (Cycloserine)

93. THH T I A1 Hifeeh = % vet wuTa o A1 S fortieft egsigper iz @ 7

(A) STTEHIATSTES (Isoniazid) (B) Tahfmafem (Rifampicin)
(C) URRISIFTETES (Pyrazinamide) (D) TIHSIEIA (Ethambutol)
94. T 9 19 o1 TSH (Addisons) T & IT=R H TN AT AT 7
(A) TS (Steroid) (B) w2 (Statin)
(C) HchIdSITE (sulfasalazine) (D) Hv%lﬂl%dﬂ\i\{qm (sulfonylureas)

95. 3I%d WY H SEaHTS 2 feiddd (Telmisartan) 1 Gk #1287
(A) 5 forefom (B) t16fefia  (C) 40fucfim (D) 50 fircfum

96. HIHIHA (metformin) 3t 3TfereRaH afeh Gk FT 7 7
(A) 500 firefium (B) 100fiefm  (C) 2000 ficfium (D) 850 fuefum

97. $TH W ThIF U1 Ush e Y AN (long acting) TfH &l 8 7

(A) TAISS (Degludec) (B) ferEm (Lispro)

(C) TmTIEH (Glargine) (D) <IN (Detemir)
98. UH BTl St SATHAR T Ugeft Jufeehia wger o MR qa, AT 3TR Y ol hRUT sHaT & 7

(A) MY (Rheumatoid arthritis) (B) T2 (Gout)

(C) THUaAs (SLE) (D) AfmfEmnY (Osteoarthritis)
99. TH W I U1 Ueh Tk qar el @ 7

(A) TSR (Azithromycin) (B) fomsifere (Linezolid)

(C) T®UTH (Cefpirome) (D) 3BT (Oseltamavir)
100. TTTeIsATiESs (Megaloblastic) THfHaT fergehl et A BT 2 7

(A) Toerfim st 12 (Vitamin B12) (B) foerfim =t (Vitamin C)

(C) dTaT (Copper) (D) farfe= T (Vitamin A)
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SPACE FOR ROUGH WORK

T Td o ToTC T
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T T o 70 Ta™
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AN

(@) Thecircles, as described in4 above, are to be darkened by using Blue/Black ball point pen only.

() 3T FH 4 H Tq T STTER T 1 et /Rt aier Wrge e g1 & T| 2 |

(b) The shading should be dark and should completely fill the circle.
(@) e I qUIET | 9 TS T &M =11 |

(c) Only one circle corresponding to the correct answer should be darkened as shown below :

(T7) T 3T B T2 holel Teh &1 Tied sl T ST =Ry < e e = R

Correct/@@l A @ © O
incorrect/ M A @ @D r APODor AFODor®®O D
Incorrect /e @“@ o AP OD or@.@@or@”@

(d) If more than one circle is darkened using Blue/Black ball point pen or if the response is marked in
any other manner or as shown in “Incorrect method” above, it shall be treated as wrong way of
marking.

(71) afe weh | Aferek Mt hl At /Tl AT WSS THeTd T T STRAT AT 3R Rl 371 TR 8 3127aT S0
fe@r T Tt qent @ sTed TR SR Al 39 TTerd SR fo S |

Rough work must not be done on the OMR Answer Sheet. Free space provided in the question booklet
should only be used for this purpose.

ToRET STeRTX 3T el ShTH ST U5k T R T © | 39 SiE giedent § $Heh Tof @Telt T Bie faan w7, 3¢t
W Fedll I HL |

“Bar Code” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the
candidature will be rejected.

S EF WY TR W R qwe w1 e o 7 59 = 58 foredt ot 7 fagha i o T o Bm 2
a1 gherefi it SEfiear 1 e < SR |

Candidate must not leave any mark of identification on any part of the Answer Sheet except as asked on
the OMR Answer Sheet as this may lead to disqualification.

IHIGaR 1 371.TH.3TR. (OMR) 3T YfEeht § I8 T o TATaT It Gierert o forelt o1 R ugare o foreht oft
e =t 7 Bie1 T1ReT, 3HE 97 A B FhAT | |

For verification of your handwriting, it is necessary to write the prescribed Text completely, which is
printed in Hindi on the OMR Sheet and also put your signature on specified space in Hindi and English
otherwise your answer sheet / candidature will be rejected.

1ot forarae & geamd & fore, fuffa ae 8 oft.wr.om. ok | & 9 gfsa foren mon 2, 389 9 faem
ey © IR ffdte T i o7 oSt o o1on ganer ot i, o7=rerm STTeht ST gfrent /Sriear srdiend
Exgdis il

In case you do not follow the instructions as given on the backside of OMR answer sheet, your answer
sheet is liable to be rejected for which you yourself will be fully responsible.

IR 9 31.TH. TR, o IO I o I53 9T 8 3 T Fsemi ot drer =1t fehan ot 3119eht 3o wreh < fehamm s
Tehd © Torees foe 31 Tt ot &9 & Sawerh & |
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